Work and Power Practice Problems 

Use the formulas below to answer the questions.

Work = force x displacement




Power = work/time(seconds)
1. Amy uses 20N of force to push a lawn mower 10 meters. How much work does she do?

2. Joe balances a stationary coin on the tip of his finger 2 m from the top of the floor. How much work is Joe doing?

3. Frank does 2400 J of work in climbing a set of stairs. If he does the work in 6 seconds, what is his power output?

4. How much work is required to pull a sled if you use 60 J of work in 5 seconds?

5. How much work does an elephant do while moving a circus wagon 20 meters with a pulling force of 200 N?

6. If it takes 5 seconds for you to do 1000 J of work, what is your power output?

Now that you have finished these practice problems, check your answers with the key at the front of the room. If you think you are ready, get the assignment (which will be graded) from your teacher.
Work and Power Problems due Monday, November 19, 2019
Use the formulas below to answer the questions.

Work = force x displacement




Power = work/time

1. A 900N mountain climber exerts of force of 900 N scaling a 100 m cliff. How much work is done by the mountain climber?

2. A small motor does 4000 J of work in 20 seconds. What is the power of the motor in watts?

3. A woman runs 100 meters using a force of 210 N and a power output of 500 W. How long does it take this woman to complete the 100 meters?

4.  A deflated hot-air balloon weighs a total of 8000 N. Filled with hot air, the balloon rises to a height of 1000 m. How much work is accomplished by the hot air?

5. A rope is thrown over a beam, and one end is tied to a 300 N bundle of lumber. You pull the free end of the rope 2 m with a force of 400 N to lift the lumber off the ground. How much work have you done?

6. A child pulls a sled up a snow-covered hill.  The child does 405 J of work on the sled. If the child walks 15 m up the hill, how large of a force must the child exert?

7. A boy exerts a 210 N force riding his bicycle a total of 200 m at a constant speed. The frictional force against the forward motion of the bicycle equals 35 N. How much work does the boy do? Explain your answer. (Hint: Remember that work is only done when the motion is in the same direction that the force is applied.) 

8. A crane lifts a load of steel that exerts a downward force of 10,000 N a distance of 100 m. It takes 5 minutes to complete the task.  How much work is done by the crane?  How much power does the crane produce?

9. How much work is done on a small car if a 3150 N force is exerted to move it 75.5 m to the side of the road?

10. An engine reached its top speed from rest in 7.5 seconds. It is able to perform 250,000 J of work in that time. How much power does this engine have in that time?

